Answer on Question #62838 — Math — Statistics and Probability
Question

Which sample size will produce a margin of error of +4.1%?
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Solution

For a 95% confidence level, standard deviation o and sample size n, the margin of
error is given by

+1.96 = = +E = +0.041.

N
Hence
2
_ (1.960) 1.962g2 — 2285, 3060‘
E E2
For a 95% confidence level E ~ T’ hence
(0.98) B ( 0.98 )2 571
"“UE) T\oo0a1) T
For a 99% confidence level E ~ T’ hence
1.29\2 (129 2 990
nN( E ) _(0041) ~
For a 90% confidence level E ~ ?, hence
(0.82) B ( 0.82 )2 200
"“UE) T\oo0a1) T

www.AssignmentExpert.com



